MAT 035, Quiz #3, Sprin
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ork. Use exact answers, unless specifically asked to round.
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versal set) is all whole numbers less than 12, what is A’ or A€?
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table below to answer the questions that follow.

Tabulated statistics: Smoke Cigarettes, Gender
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What is the probability of a randomly selected person from this sample being a smoker?
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What is the probability of a randomly selected person from this sample being a woman?
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What is the probability of a randomly selected person fron‘gl this sample being a woman who
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Are gender and smoking independent? Show a calculation to justify your conclusion,
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3. Shade the Venn diagram shown to show the set (4 U B) — (Ij N ). Label your sets A, B, and C.

[Hint: How many ways can the first person stand in line? What about the second? Etc.]

Frends 4,6.C

4. Draw a tree diagram to show the possible outcomes for thre%friends standing in line, in order.




